BT HEHE) |8
IiF S BT 165 207 216 423
FEHREI—TH 189 195 197 392
FHRBI=TH 206 248 246 494
FRRI=TH 258 305 351 656
FFRETmT 722 883 960 1843
FFHBETAETH 1026 1400 1490 2890
FEHRETATH 531 682 753 1435
FFRE+tTH 419 460 545 1005
FEEI\TH 178 151 195 346
EFE—TH 238 259 286 545
EFE_—TH 884 1060 1132 2192
/08 221 316 314 630
FI&HET 0 0 0 0
&E—TH 446 582 604 1186
ISEI—TH 1357 1812 1954 3766
IMEE=TH 326 435 470 905
FISHETET B 429 601 629 1230
IN:EL 604 951 954 1905
/INEHET—TH 107 129 144 273
INABI=TH 621 914 922 1836
INEHET=TH 144 218 216 434
FLF0ET 508 522 687 1209
FFHT 0 0 0 0
FME—TH 192 251 260 511
FMBI=TH 259 405 441 846
S 12T 1 1 1 2
S1ERT—TH 323 514 472 986
SER=-TH 441 577 636 1213
BT 579 819 840 1659
= ERET 275 352 411 763
S JRHET 240 344 349 693
— &Iz ET 160 221 216 437
[z A BT 747 1053 1117 2170
LU FEET 493 641 664 1305
PRAERT—TH 247 292 312 604
UER—TH 542 704 771 1475
AREBRT=TH 153 206 228 434
2B 219 339 285 624
EEE—TH 375 467 520 987
EEM_TH 289 373 420 793
EEH=TH 600 718 771 1489
ZEHRTH 55 80 76 156
{BAHT 492 481 75 556
BAE—TH 618 761 764 1525
BAET=TH 1073 1159 1320 2479
HABI=TH 435 570 587 1157
{HABTNTH 824 1018 1031 2049
BAETRETH 574 665 745 1410
BAEI/<RTH 369 373 437 810
;th | BT 1463 1706 1730 3436
h EET—TH 240 211 201 412
h T HE] 2304 3297 3291 6588
| B B AET 297 438 450 888
X EHT 0 0 0 0
REBRT—TH 241 358 353 711

BT & HEHUE) (B
#yE=TH 541 719 785
By E=TH 141 185 201
FHUF 1 2 2
HPHEF—TH 0 0 0
HHAHEFE_TH 0 0 0
HRAHF=TH 0 0 0
HPAHEFETH 0 0 0
ZEK)I|ET 143 205 258
= E] 187 285 327
AFHET 275 441 424
HEAHT 329 498 510
WEFH 180 244 290
THIAT—C—TH 0 0 0
TH/AT—CZTH 0 0 0
TH/AT—CZTH 0 0 0
1 HT 236 382 418
/NEF R BT 210 351 348
T=H 201 285 331
1L 3BT 296 484 480
EE AT 9 8 3
Jt A h BT 167 239 282
[E BT 78 128 129
SR ET 79 141 141
EIEAT 121 183 181
t2RAET 263 443 458
T FI BT 121 174 201
SR HT 207 328 366
K EHT 156 225 237
LU FHr 4 7 6
*x—TH 340 269 310
=_TH 617 534 634
£=TH 523 531 592
EH) 54 76 86
| F+ BT 234 305 346
EHE—TH 240 287 318
EHEIZTH 156 179 206
AHT 810 961 1034
= TAHET 1330 1554 1618
L HT 1585 2074 2281
E DR 998 1175 1144
L RET 1026 1465 1449
Exa: 521 776 761
ETFE—TH 157 170 191
ITF¥E-TH 297 334 363
FFEH=TH 306 384 393
/NEFHT 62 89 92
BILE—TH 513 681 765
BILE=-TH 1842 1819 1887
BILE=TH 1846 2268 2356
BLEMTH 342 409 487
& i 66519 88018 92175
SNEANERE 793 890 1091
& & 67312 88908 93266

Ek18F 7AXRBE FREZHZRAOAN  (HHI:N)
BT HEHdE) |8 £
KERT=TH 497 663 736 1399
UKEET=TH 907 1162 1264 2426
UREHETNT B 259 350 349 699
IREBTATH 1227 1550 1597 3147
EEAT 2371 3509 3521 7030
WAEH—TH 340 553 572 1125
WREBE-TH 447 689 704 1393
WREH=TH 1340 2016 2144 4160
WAEHMTH 757 1082 1209 2291
WAEHRETH 421 614 661 1275
= 5 BT 368 549 582 1131
T 3 H7 207 302 310 612
#h{EET 271 399 419 818
= HHET 471 694 737 1431
F0 H BT 446 622 664 1286
8 EHT 194 305 310 615
SEHEET 373 548 550 1098
BT 690 1021 1001 2022
ERE] 127 197 211 408
DEHH—TH 642 972 980 1952
DEHH_TH 589 872 859 1731
NEAH=ZTH 363 502 478 980
BEE 0 0 0 0
SEE—TH 379 515 554 1069
5EEZTH 571 810 848 1658
5EE=TH 547 664 771 1435
StEBHE—TH 754 1110 1192 2302
NEAEZTH 1065 1501 1606 3107
FXEBEE=TH 1186 1522 1657 3179
IEONH—TH 55 92 98 190
$OAEHE_-TH 637 1051 1055 2106
IOAHE=TH 147 206 237 443
HIT=E—TH 227 391 385 776
HITEE=TH 116 183 175 358
A H AT 2 1 1 2
NHEE—TH 230 308 329 637
NHEE—_TH 270 377 393 770
AEBI=TH 286 409 409 818
ANEEETH 191 276 317 593
& EET 7 9 1 10
EEE—TH 652 900 916 1816
EEEZ=TH 643 825 831 1656
EEE=TH 336 494 510 1004
FEEHEMTH 321 352 391 743
EREI—TH 260 313 301 614
HEBIZTH 237 375 363 738
EREI=TH 133 196 194 390
EREMETH 152 185 193 378
HEHBBETATH 212 304 291 595
BEREATH 211 302 294 596
3 HET 221 190 235 425
FHE—TH 213 239 265 504
FHB=TH 171 239 267 506
FHET=ZTH 127 185 196 381
#’yE—TH 210 302 307 609




